>>symsxyztuv
>> x=sin(2*t)

X =
sin(2*t)

>> y=cos(2*t)
y=

cos(2*t)

>> z=3%*t

z=

3%t

>>r=[xy z]
r=

[ sin(2*t), cos(2*t), 3*t]
>> diff(r,t)

ans =
[ 2*cos(2*t), -2*sin(2*t), 3]
>> diff(x,t)

ans =

2*cos(2*t)

>>ansh2

ans =

4*cos(2*t)"2

>> xprime=diff(x,t)

Xprime =

2*cos(2*t)



>> yprime=diff(y,t)

yprime =

-2*sin(2*t)

>> zprime=diff(z,t)

zprime =

3

>> mag=sqrt(xprime”2+yprime”2+zprime”2)
mag =

(4*cos(2*t)72 + 4*sin(2*t)A2 + 9)7(1/2)

>>
>>mag=sqrt(13)

mag =

3.6056
>> int(mag,t,0,2*pi)
ans =
2*pi*137(1/2)

>>Syms Xy z
>> f=13+x72-y"2

f=
xA2 -yh2 +13

>> F=f-z

XA2-yh2-2+13
>> fx=diff(F,x)

fx =



2%x

>> fy=diff(F,y)
fy =

2%y

>> fz=diff(F,z)

>> mag=sqrt(fx"2+fy"2+fz"2)
mag =
(4*xA2 + 4%yn2 + 1)A(1/2)

>>syms r theta
>> mag=sqrt(4*rt2+1)

mag =

(4%*rn2 + 1)M1/2)

>> int(int(mag*r+0*theta,r,0,2),theta,0,2*pi)
ans =

(pi*(17*177(1/2) - 1))/6

>>syms u v
>> ru=[v*cos(u) -v*sin(u) v]

ru =
[ v*cos(u), -v*sin(u), v]
>> rv=[sin(u) cos(u) u]
rv=

[ sin(u), cos(u), u]

>> cross(ru,rv)



ans =
[ - v¥cos(u) - u*v*sin(u), v¥sin(u) - u*v*cos(u), v¥cos(u)”2 + v¥*sin(u)*2]

>>



